
Question-1

(A) lteatultt 'huf vt{Plttultt sJttct bttxu ytvtujt rJtfjvttu bttk:te mttattu rJtfjvt Nttu"te ;tulttu _bt vt{Pltlte mttbtu jtFttu.

 1. dtwKttu;th Nttu"tJtt ctkltu bttvtbttk:te yuf vtKt bttvt fuJtwk lt ntuJtwk SuEyu ?

 (a) 1   (b) bttuxe mtkFgtt   (c) lttlte mtkFgtt   (d) 0

 2. yvtqKttOfltu xftbttk VuhJtJtt yvtqKttOfltu fuxjtt Jtzu dtwKttgt Au ?

 (a) 1/100  (b)  100   (c) 10    (d) 1/10

 3. 50 ltt 10% fuxjtt :ttgt ?

 (a) 50   (b) 500   (c) 5    (d) 5000

 4. 50 vtimtt yltu ~t. 3 lttu dtwKttu;th fuxjttu :ttgt ?

 (a) 5:3  (b) 3:5   (c) 1:6   (d) 6:1

 5. r*tftuKtltt *tKtugt FtqKttltt bttvtlttu mthJttGtu fuxjttu ntugt Au ?

 (a) 60°  (b) 90 °   (c) 180°   (d) 360°

�6. ftxftuKt r*tftuKtbttk ftxftuKtlte mttbtulte cttswltu Ntwk fnuJttgt ?

 (a) FtqKttu  (b) fKto    (c) Jtu"t    (d) yuf vtKt ltne

 7. attuhmtltwk Htu*tVG Nttu"tJttltwk mtq*t lteatu vtife fgtwk Au ?

 (a) l + b  (b) l ´ l   (c) 2(a + b)   (d) yuf vtKt ltne

 8. 1 nufxh cthtcth fuxjtt attu.btexh :ttgt ?

 (a) 100  (b) 1000   (c)10,000   (d) 1,00,000

 9. Jt;twoGltwk Htu*tVG Nttu"tJttltwk mtw*t Ntwk Au ?

2 (a) pr   (b) pr     (c) 2pr   (d) 2r

 10. ftultwk bttvt Jgttmt fh;ttk yz"twk Au ?

 (a) Htu*tVG  (b) vtrhDt   (c) Jgttmt   (d) r*tsgtt

2 2
 11. 7x y  vt'tJtrjtlttu mtndtwKtf fgttu Au ?

 (a) 2   (b) 5    (c) 7    (d) 1

 12. su vt'tJtrjtlttu bttk btt*t yuf s vt' ntugt ;tu vt'tJtrjtltu Ntwk fnuJttgt ?

 (a) yufvt'e  (b) r}vt'e   (c) r*tvt'e   (d) ctnwvt'e



 13.  vt'tJtrjtbttk fuJtt vt'tultt mthJttGt fu ctt'cttfe :tE Ntfu ?

 (a) rJtS;tegt  (b) ymtbttlt   (c) mtS;tegt   (d) rJtS;tegt

2 14. 5x y  mtS;tegt vt' fgtwk Au ?

2 2 2
 (a) 8xy   (b)  5xy   (c) -7x y    (d) -9xy

0 00 15. 2  ´ 3  ´ 4  cthtcth fuxjtt ytJtu Au ?

 (a) (-1)  (b) 234   (c) 2340    (d) 1

 16. vt]:Jtelttu Jgttmt 1,27,56,000 bte. Au ;tultwk vt{bttrKt;t mJt~vt Ntwk btGu ?
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 (a) 1.2756 ´ 10  bte.(b) 12.756 ´10  bte.  (c) 127.56´10 bte.    (d) yuf vtKt ltne

 17. rltgtrbt;t MtxTftuKt bttk fuxjte mtkrbtr;t huFtt btGu ?

 (a) 6   (b)10    (c) 4    (d) 8

�18. attuhmt mtkrbtr;tlte huFtt ntugt Au ?

 (a) 1   (b) 2    (c)  3    (d) 4

 19. Jt;twoGltu fuxjte mtkrbtr;tlte huFtt ntugt Au ?

 (a) 4   (b) 6    (c) 8    (d) ymtkFgt

 20. r*tvtrhbttKtegt ytf]r;tltu xqkfbttk Ntwk fnuJttgt ?

 (a) 5-D  (b) 4-D   (c) 2-D   (d) 3-D

 21. attuhmtlttu vtrhCt{btKt ftuKt fuxjtt ykNtlttu ntugt Au ?

 (a)120°  (b) 60 °   (c) 70°   (d)90°

3 4 22. (a )  Dtt;tlte Dtt;tltt rltgtbttu Wvtgttudt fh;ttk Ntwk sJttct btGu ?

4 3 12 7
 (a) a    (b) a     (c) a     (d) a

4 3 2
 23. a ´a ´a   mtt'wk ~vt ytvt;tt Ntwk sJttct btGu ?

24 10 9 (a) a   (b) a     (c) a     (d) a

 24. -3/13lte rJthtu"te mtkFgtt fE Au ?

 (a) -3/13  (b) 13/3   (c) 3/13   (d) yuf vtKt ltne

 25. 0 yltu 5 lte Jtaatu fuxjte mtkbtugt mtkFgttytu Au ?

 (a) ctu   (b) atth   (c) vttkat   (d) ymtkFgt

 26. fE mtkFgttytultwk mtkFgtthuFtt vth rlt~vtKt 0 lte ztctecttswyu ntugt ?

 (a) yvtqKttof  (b) Dtlt    (c) 'NttkNt    (d) ÒKt

 27. yuf jtkctattuhmtltwk bttvt 5 bte ´ 2 bte Au ;tultwk Htu*tVG fuxjtwk :ttgt ?

 (a)  14 attubte.  (b) 7 attubte.   (c) 12 attubte.   (d) 10 attubte.



 28.  yuf r*tftuKtlttu yt"tth 6 mtubte. yltu QkattE 2 mtubte Au ?;ttu ;tultwk Htu*tVG Nttu"ttu.

 (a) 7 btexh  (b) 6 mtubte   (c) 6 attu.mtubte   (d) 6 attu.bte.

 29. vtqhwk vtrhCt{btKt yuxjtu fuxjtwk vtrhCt{btKt ftuKt ?

 (a)90°   (b)180°   (c) 270°   (d)360°

 30. vtrhCt{btKt 'hrbtgttlt ctlt;tt FtqKttltu fuJttu ftuKt fnuJttgt ?

 (a) vtrhCt{btKtftuKt (b) ctnwftuKt   (c) ftxftuKt    (d) dtwhwftuKt

 31. ytuAtbttk ytuAt huFttFtkz Jtzu ctltujttu ctnwftuKt lteatu vtife fgttu Au ?

 (a) r*tftuKt  (b) Jt;twoG   (c) at;twMftuKt    (d) MtxTftuKt

 32.  fE ytf]r;tbttk mtkvtqKto mtkrbtr;t "thtJt;te ytf]r;t Au ?

 (a) r*tftuKt  (b) attuhmt   (c) Jt;twoG    (d) jtkctattuhmt

�33. ftdtG vth 'tuhujte ytf]r;tltu fu subttk jtkcttE yltu vtntuGtE ntugt, ;tuJte ytf]r;t ltu Ntwk fnuJttgt ?

 (a) Jt;twoG  (b) rYvtrhbttKtegt  (c)  attuhmt   (d) r*tvtrhbttKtegt

2 2
 34. 7x  yltu 5x  lttu mthJttGtu fh;ttk fE hfbt btGu Au ?

2 2 2 2 (a) 2x   (b) 8x    (c) 12x     (d) 5x

2 35. Su x=4 ntugt ;ttu x  + 4 lte rfkbt;t fuxjte :ttgt ?

 (a) 20   (b) 21    (c) 16    (d) 19

 36. 15 bttk Dtt;ttkf fuxjtt Au ?

 (a) 0   (b) 15    (c) 5    (d) 1
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 37. 1.5 ´ 10  ltu mttbttlgt mJt~vtbttk VuhJttu.

 (a) 1,50,00,000 (b) 15,0000   (c) 150    (d) 15

 38. r*tftuKt ABC ltu mtkfu;tbttk fuJte he;tu jtFttgt ?

 (a) ∆ABC  (b) Ð ABC   (c) □ABC   (d) ^ABC

 39. lteatu vtife fE mtkFgtt (-7) lte rJthtu"te mtkFgtt Au ?

 (a) 1/7  (b) 7    (c) -1/7   (d) yuf vtKt ltne

 40. 12 bttmt yltu 4 JtMtolttu dtwKttu;th fuxjttu btGu ?

 (a) 4/12  (b) 1/6   (c) 1/4   (d) 6/12

 41. 20% ltu yvtqKttofbttk VuhJt;tt vtrhKttbt Ntwk btGu ?

 (a) 1/5   (b) 1/5  (c) 1/2    (d) 1/3

 42. ~. 200 bttk Jtuatt;te Jtm;tw vth 5% ltVtu jtuJttgt Au ;ttu ;tulte vtz;th rfkbt;t fuxjte :ttgt?

 (a)  ~. 210  (b) ~. 220   (c) ~. 100   (d) ~. 190



 43.  ftxftuKt r*tftuKt PQR ytvtujttu Au, ;tubtt fgttu FtqKttu ftxftuKt ntugt ?

 (a) ÐQ  (b) ÐP    (c) ÐR    (d) yuf vtKt ltne

3 2
 44. 2  ´ 3 �lte rfkbt;t fuxjte :ttgt ?

 (a)27   (b)72    (c) 65    (d)70

 45. fE ytf]r;tltu jtkcttE, vtntuGtE yltu QkattE ntugt Au ?

 (a) 3-D  (b) 2-D   (c) 4-D   (d) 5-D

 46. mtbtDtltltu fuxjte "tth ntugt Au ?

 (a) 6   (b) 8    (c) 12    (d) 16

 47.  Ekxlttu ytfth fuJttu ntugt Au ?

 (a) mtbtDtlt  (b)  Ntkfw   (c) ltGtfth    (d) jtkctDtlt

6 2
�48. 3  ¸ 3  cthtcth fuxjtt :ttgt ?

3 4 62 26 (a) 3    (b) 3     (c)  3    (d) 3

3 2
 49. 5x  + 4x  + 3x +2 bttk fuxjtt vt'tu Au ?

 (a) 4   (b) 3    (c) 2    (d) 1

 50. 48 mtubte vtrhrbtr;tJttGt attuhmt lte cttswlte jtkcttE fuxjte :ttgt ?

 (a) 16 mtubte  (b) 24 mtubte   (c) 12 mtubte   (d) 36 mtubte

 51. 18 mtubte JgttmtJttGt Jt;twoGlte r*tsgtt fuxjtt mtubte. :ttgt ?

 (a) 9   (b) 18    (c) 36    (d) 27

 52. 0.5 yuxjtu fuxjtt xft :ttgt ?

 (a) 75   (b) 5    (c) 50    (d) 25

 53. Su vt.rf. fh;tt Jtu.rf ytuAe ntugt ;ttu Ntwk :ttgt ?

 (a) ltVtu   (b) Fttux   (c) btq.rf.   (d) FthtS;t

 vt{Plt-1 (B) rJt"ttlt mttatwk ctltu ;tu he;tu Fttjte sdgtt vtqhtu.

 1. 20 vtimtt yltu 40 btexh lttu dtwKttu;th ............ :ttgt ?  (1:2 , 2:1 , lt btGu)

 2. 60 vtimtt yltu 90 vtimtt lttu dtwKttu;th ............ btGu ?  (4:3 , 2:3 , 5:1)

 3. ............  lte Jgtm;t mtkFgttltwk yrmt;t;Jt lt:te.   (1, 0, (-1) ) 



 4. 5/8 ´ 3/5 ´ 8/3 = ............  :ttgt.   (1, 0, (-1) ) 

 5.        ltu p/q mJt~vtbttk = ............  jtFttgt. 

 6. yuf attuhmt cttswlte jtkcttE 8 mtubte Au ;ttu ;tultwk Htu*tVG .................... attu. mtubte (64, 32, 24) 

2 2
 7. 9x  + 6x + 3 ctnwvt'ebttk yatGvt' .............. Au.    (9x , 6x, 3)

2 8. 6z ltwk mtS;tegt vt' ................ Au.      (6x, 6y , 4z)

3 4 8 9. 3 ´ 3 ´ 3 ´3 = ...............      (4  , 3 ,  3 )
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 10. 4  bttk yt"tth .............. Au.      (1, 8, 4)

 11. su hfbt ytvtJtt fu jtuJttbttk ytJtu ;tu hfbt ltu .............. fnuJttgt   (btw'Tjt, Jgtts, Jgttslttu 'h)

 12. ÒKt mtkbtugt mtkFgttytu Ntwlgtlte .............. cttswyu ntugt Au.   (ztcte, vttAG, sbtKte)

 13. FtqKttlte hatltt fhJtt attvt 'tuhJtt .............. mtt"tltlttu Wvtgttudt :ttgt Au. (ftuKtbttvtf, rYCttsf, vtrhfh)

 14. r*tftuKtlte ............... fHttlte vtrhCt{btKt mtkrbtr;t Au.    (ctu, *tKt, atth)

 15. hbtJttltt vttmtt Wvth mttbtmttbtulte cttswytulttk xvtftklttu mthJttGtu .............. :ttgt Au. ( 4, 6, 7 )

 16. (-6) lte rJthtu"te mtkFgtt .............. Au.        (1/6, 6, -1/6)

 17. jtkctattuhmtlte vtrhrbtr;t = ................      (2 (l + b) , l + b , l - b)

 18. Vhfze mtkvtqKto vtrhCt{btKtbttk .............. m:ttlt attuffmt ntugt Au .   (ctu, *tKt, atth)

 19. mtbtDtltltu ............ "tth ntugt Au.       (6, 8, 12)

 20. jtkctDtltltu .............. rNthturctk'w ntugt Au.      (12, 16, 8)

vt{Plt& 1 (c) lteatulttk rJt"ttlttu mttbtu Fthtk fu Fttuxtlte rltNttlte fhtu.

 1. dtwKttu;th 5:6 yltu 6:5 yu mthFtt dtwKttu;th Au.

 2. y"toJt;twoGlte vtrhrbtr;t yuxjtu y"tovtrhDt + Jgttmt.

 3. ytEm_ebtlttu ftult yu 3-D Jtm;tw Au

 4. htNteytulte mthFttbtKte bttxu ctkltu bttvtltt yufbttu mtbttlt ntuJtt SuEyu.

 5. su vtqKttof sbtKte cttswyu ytJtu ;tu vtqKttOf bttuxtu Au.

 6. btq.fe fh;tt Jtu.rf. Jt"tw ntugt ;ttu Fttux Sgt.

 7. ftuEvtKt Jtm;tw vtrhCt{btKt fhu ;gtthu ;tulttu ytfth fu f' ct'jt;tt lt:te.

 8. Dtlt ytfthtubttk rNthturctk'w, "tth yltu Vjtf yubt *tKt ykdttu ntugt Au.

 9. Jt;twoGfth Jtm;twyu htufujte sdgtt ltu Jt;twoGlttu vtrhDt fnuJttgt.

 10. vt'tJtrjt 6xbttk 6 yu atjt Au. 
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 11. 5  Ntc'bttk *tKtlte vttkat Dtt;t yubt jtFttgt.

 12.  ftxftuKt r*tftuKtltt *tKtugt FtqKttltt bttvtlttu mthJttGtu 90° :ttgt
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 13.  r*tvtrhbttrKtgt Jtm;twytultu xwkfbttk 2-D fnuJttgt Au.

 14. jtkctattuhmt fwjt atth mtkrbtr;t huFtt btGu.

 15. H yu WCte yltu ytze ctkltu vthtJtr;to;t mtkrbtr;t "thtJtu Au.

     ...y:tJtt...

vt{Plt&1 (C) btt*t yuf s Ntc'bttk sJttct ytvttu.

 1. ctu htrNtytulte ;twjtltt fh;ttk fuxjtt dtKte Au, ;tu 'NttoJt;te mthFttbtKte ltu Ntwk fnuJttgt Au ?

 2. "tlt mtkbtugt mtkFgttytu Ntwlgtlte fE cttswyu ytJtujte Au ?

 3. Jt;twoGtfth vt{'uNtlte Vh;te rflttht ltt bttvtltu Ntwk fnuJttgt ?

 4. atthlttu Dtlt yultu ykfbttk fubt jtFttgt ?

 5. rYvtrhbttKtegt ytf]r;tltu xqkfbttk Ntwk fnuJttgt ?

 6. vtrhCt{btKtftuKtltwk attu:tt Cttdtltwk vtrhCt{btKt fuxjtt ykNtlttu FtqKttu hatu Au ? 

 7. mtbtcttsw r*tftuKtbttk mtkrbtr;t huFtt fuxjte btGu ?

 8. 1 ltt rJthtu"telte Jgtm;t ctu mtkFgttytulttu dtwKttfth fuxjttu :ttgt ?

 9.  yufcteBlte Jgtm;t mtkFgttytulttu dtwKttfth fuxjttu :ttgt ?

2 5 4  10. -3x y z vt'bttk mtndtwKtf fgttu Au ?

 11. jtkctattuhmtbttk fuxjte mtkrbtr;tlte huFtt btGu?

 12. 4 hcthlte rfkbt;t ~. 28 ntugt ;ttu 7 hcthlte rfkbt;t fuxjte :ttgt ?

 13. (-7/9) yu mtkbtugt mtkFgttlttu fgttu vt{fth Au ?

 14. 20% yuxjtu fuxjttbttu Cttdt ?

 15. r*tftuKtltt *tKtugt FtqKttytultt bttvtlttu mthJttGtu fuxjttu :ttgt ?

vt{Plt & 1(D) rJtCttdt A lte bttrn;teltu rJtCttdt B lte bttrn;te mtt:tu Suztu.

 v rJtCttdt & A   rJtCttdt & B

 (1) (-5) lte rJthtu"te mtkFgtt  (A) (-5)

 (2) 5 lte Jgtm;t mtkFgtt   (B) (-1/5 )

 (3) (1/5) lte rJthtu"te mtkFgtt  (C) 1/5

 (4) 5 lte rJthtu"te mtkFgtt   (D) 5

 

v rJtCttdt & A   rJtCttdt & B

 (1) Jtu.rf. - vt.rf.   (A) Jgtts btw'Tjt

 (2) btw'Tjt + Jgtts   (B) %

 (3) vt.rf. - Jtu.rf.   (C) ltVtu

 (4) xftlte rltNttlte   (D) Fttux



 v rJtCttdt & A   rJtCttdt & B
2 (1) Jt;twoGlttu Jgttmt    (A) pr

 (2) Jt;twoGlttu vtrhDt    (B) 1/2 bh

 (3) Jt;twoGltwk Htu*tVG    (C) 2r

 (4) r*tftuKtltwk Htu*tVG    (D) 2pr

 v rJtCttdt & A   rJtCttdt & B

 (1)      (A) dttujtf

 (2)      (B) "tlt

 (3)      (C) ltGtfth

 (4)      (D) jtkctDtlt

vt{Plt & 2 mtqatltt btwsct 'tFtjtt dtKttu. (dtbtu ;tu ltJt)                                                (18)

 v dtwKttu@th Nttu"ttu.

 (1) 5 ~t. yltu 50 vtimtt     (2) 30 r'Jtmt yltu 36 fjttf

 (3) 9 btexh yltu 27 mtubte    (4) 960 dt{tbt yltu 12 rfdt{t

 (5) 15 rfdt{t yltu 210 dt{tbt

�v yvtqKttOfltu xftbttk VuhJttu.

 (1) 5/4  (2) 15/25 (3) 8/20 (4) 0.25 (5) 0.02

 v dtwKttfth fhtu.

 (1) -9/7 ´ -3/5   (2) -5/7 ´ 6   (3) -6/5 ´ (-2)   

 (4) 3/10 ´ (-9)   (5) 3/11 ´ 2/5

�v dtwKttfth fhtu.

 (1) -3/5 ¸ 2   (2) 3/10 ¸ 21/35  (3) -1/8 ¸ 3/4

 (4) (-4) ¸ 2/3   (5) 8 ¸ 2/3

�v vtrhrbtr;t Nttu"ttu.

 (1) yuf jtkctattuhmtlte jtkcttE 5 mtubte yltu vtntuGtE 4 mtubte Au. ;ttu jtkctattuhmtlte vtrhrbtr;t Nttu"ttu.

 (2) 12 mtubte jtkcttE "thtJt;tt attuhmtlte vtrhrbtr;t Nttu"ttu.

 (3) yuf jtkctattuhmtlte jtkcttE 12 btexh yltu vtntuGtE 8 btexh Au. vtrhrbtr;t Nttu"ttu.

 (4) 15 mtubte jtkcttE "thtJt;tt attuhmtlte vtrhrbtr;t Nttu"ttu.

 (5) 15 btexh yltu 11 btexh jtkcttE "thtJt;tt jtkctattuhmtlte vtrhrbtr;t Nttu"ttu.
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�v lteatultt 'tFtjtt dtKttu.

 (1) 14 mtubte r*tsgtt "thtJt;tt Jt;twoGlttu vtrhDt Nttu"ttu.

 (2) 21 mtubte r*tsgtt "thtJt;tt Jt;twoGlttu vtrhDt Nttu"ttu.

 (3) 35 mtubte r*tsgtt "thtJt;tt Jt;twoGlttu vtrhDt Nttu"ttu.

 (4) 5 mtubte r*tsgtt "thtJt;tt Jt;twoGltwk Htu*tVG Nttu"ttu.

 (5) 14 mtubte r*tsgtt "thtJt;tt Jt;twoGltwk Htu*tVG Nttu"ttu.

�v vt'tJtrjtltt mthJttGt-ctt'cttfe fhtu.
2 2 2 (1) 13m  - 4m + 6 yltu 5m - 6m  lttu mthJttGtu fhtu.  (2) 5x - 10 bttk:te -x  + 10x - 5 ctt' fhtu.

2 2 2
 (3) 8a  + 7a - 1 bttk:te -11a  + 5a - 3 ctt' fhtu.   (4) 4 + 3x yltu 5 - 4x + 2x  lttu mthJttGtu fhtu.

2 2
 (5) 12a  - 8b + 10 yltu 9a  - 3b - 6 lttu mthJttGtu fhtu.

�v mtt'wk~vt ytvttu.
3 2 7    3 6 5   3 7 12 (1) a  ´ a  ´ a  (2) 9  ´ 9  ´ 9  (3) 5  ´ 5  ´ 5

9 7    20 15
 (4) (-5)  ¸ (-5)  (5) 2  ¸ 2

�v mtkrbtr;t huFtt 'tuhtu yltu fuxjte mtkrbtr;t huFtt btGNtu ;tu jtFttu.

v ytvtujt ltuxlte ytf]r;t vth:te fgttu ytfth ctltNtu ;tu jtFttu.



vt{Plt & 3 mtqatltt btwsct 'tFtjtt dtKttu. (dtbtu ;tu vttkat)                                               (15)

(1) btuk yuf xeJte ~t. 10,000 bttk Fthe'gtw yltu 20% ltVtu btuGJte ;tu Jtuate 'e"twk. ;ttu btltu xe.Jte. JtuatJtt:te fuxjttk ~rvtgtt btGNtu?

(2) ybteltt ~t. 275 bttk yuf vtwm;tf Fthe'u Au yltu 15% ltwfNttlte Jtuatu Au, ;ttu ;tuKtu ;tu vtwm;tf fuxjtt ~rvtgttbttk Jtuagtwk nNtu?

(3) ~t. 3400 bttk Fthe'ujt fcttx ~t. 4250 bttk Jtuat;tt ltVtu :ttgt fu Fttux? fuxjtt xft?

(4) yuf Jtuvtthe ~t. 2500 bttk Fthe'ujt Fttkz Aqxfbttk Jtuat;tt ~t. 2700 btGu ;ttu ltVtu :ttgt fu Fttux Sgt? fuxjtt xft?

(5) btuk ctdteattbttk Jtvtht;te ft;th ~t. 250 bttk Fthe'e yltu ;tultu ~t. 325 bttk Jtuate ;ttu ltVtu :ttgt fu Fttux? fuxjttk xft?

(6) yuf V{es ~t. 12,000 bttk Fthe'gtwk yltu ~t. 13,500 bttk Jtuagtwk ;ttu ltVtu :ttgt fu Fttux? fuxjttk xft?

v hatltt jtFttu.

(1) Dxyz hattu. subttk xy = 4.5 mtubte, yz = 5 mtubte yltu zx = 6 mtubte ntugt.

(2) sulte cttswltwk bttvt 5.5 mtubte ntugt ;tuJtt mtbtcttsw r*tftuKtlte hatltt fhtu.

(3) DPQR hattu, subttk PQ = 4 mtubte, QR = 3.5 mtubte yltu PR = 4 mtubte Au.

(4) xy = 3.5 mtubte, yz = 5.5 mtubte yltu xz = 7 mtubte ntugt ;tuJttu Dxyz hattu.

v Htu*tVG Nttu"ttu.

(1) sulte vtrhrbtr;t 320 btexh Au, ;tuJtt attuhmt cttdtltwk Htu*tVG Nttu"ttu.

(2) yuf jtkctattuhmtlte vtrhrbtr;t 100 mtubte Au, Su ;tulte jtkcttE 35 mtubte ;ttu ;tulte vtntuGtE Nttu"ttu, ;tultwk Htu*tVG vtKt Nttu"ttu.

(3) yuf attuhmt cttdt yltu yuf jtkctattuhmt cttdtltt Htu*tVG mthFttk Au. Su attuhmt cttdtlte cttswltwk bttvt 60 btexh ntugt yltu jtkctattuhmt cttdt

    lte jtkcttE 90 btexh ntugt ;ttu jtkctattuhmt cttdtlte vtntuGtE Nttu"ttu.

(4) yuf jtkctattuhmtlte vtrhrbtr;t 140 mtubte Au. Su ;tultt vtntuGtE 40 mtubte ntugt ;ttu ;tulte jtkcttE Nttu"ttu. jtkctattuhmtltwk Htu*tVG vtKt Nttu"ttu.

(5) lteatu ytvtujt ytf]r;tltwk Htu*tVG Nttu"ttu.

v rfkbt;t Nttu"ttu.
2

(1) Su m = 2 ntugt ;ttu 3m  - 2m - 7 lte rfkbt;t Nttu"ttu.
3 2

(2) Su p = (-2) ntugt ;ttu -2p  - 3p  + 4p + 7 lte rfkbt;t Nttu"ttu.
2 2(3) Su a = 2 yltu b = (-2) ntugt ;ttu a  + ab + b  lte rfkbt;t Nttu"ttu.

2 2(4) Su a = 0, b = (-1) ntugt ;ttu 2a b + 2ab  + ab lte rfkbt;t Nttu"ttu.
2

(5) Su x = (-3) ntugt ;ttu 3x  + 4x - 6x lte rfkbt;t Nttu"ttu.

v mtt'wk~vt ytvttu.
2 2   2 2  2 3  (1) (-3)  ´ (-5) (2) (-2)  ´ (-10) (3) 5  ´ 3

4 4   4 3 2(4) 2  ´ (-3) (5) 1  ´ 3  ´ 2  ´ 5

22 mtubte

13
.6
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13 mtubte
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v ytvtujt bttvtlte ytEmttubturx[f ytf]r;t ctlttJttu.

(1) jtkcttE 5 mtubte, vtntuGtE 3 mtubte yltu 2 mtubte QkattE bttvtlttu jtkctDtlt

(2) 4 mtubte jtkcttElte "tthJttGtu mtbtDtlt

(3) 6 mtubte jtkcttElte "tthJttGtu mtbtDtlt

(4) jtkcttE 5 mtubte, vtntuGtE 3 mtubte yltu QkattE 6 mtubte bttvtlttu jtkctDtlt

(5) jtkcttE 6 mtubte, vtntuGtE 5 mtubte yltu QkattE 4 mtubtelttu jtkctDtlt

vt{Plt & 4 mtqatltt btwsct 'tFtjtt dtKttu. (dtbtu ;tu atth)                                               (16)

  v mtt'wk Jgtts Nttu"ttu.

 (1) ~t. 1200 ltwk 12% jtuFtu 3 JtMtoltwk Jgtts yltu Jgttsbtw'Tjt Nttu"ttu.

 (2) ftuE hfbtltwk JttrMtof 5% jtuFtu 3 JtMtoltwk Jgtts ~t. 450 :ttgt Au, ;ttu ;tu hfbt Nttu"ttu.

 (3) ~t. 56,000 ltwk fuxjttk xft Jgtts'hu 2 JtMtoltwk Jgtts ~t. 280 :ttgt.

 (4) Su bteltt ;tuKtu Jgttsu jte"tujt ybtwf hfbtltwk JttrMtof 9% 'hu yuf JtMtoltwk Jgtts ~t. 45 atwfJt;te ntugt, ;ttu ;tuKtu Jgttsu jte"tujt hfbt

      Nttu"ttu.

 (5) ~t. 3800 ltwk 8% jtuFtu fuxjttk JtMto vtAe Jgtts ~t. 608 btGNtu?

v lteatultt 'tFtjtt dtKttu.

(1)     (2)     (3)

(4)     (5)     (6)

v hatltt fhtu.
o

(1) mÐQ=90  , QR = 8 mtubte yltu PR = 8 mtubte ntugt ;tuJttu DPQR ftxFtqKttu hattu.

(2) yuJttu ftxftuKt r*tftuKt hattu fu sultt fKtolte jtkcttE 6 mtubte yltu yufcttswlte jtkcttE 4 mtubte ntugt.
o

(3) mtbtrYcttsw ftxftuKt r*tftuKt DABC hattu subttk mÐACB=90  yltu AC = 6 mtubte Au.

v lteatultt 'tFtjtt dtKttu.

(1) yuf cttdt 90 btexh jttkcttu yltu 75 bte. vtntuGtu Au. ;tulte Vh;tu atthu ;thV ctnthlte cttswyu 5 bte vtntuGt hm;ttu ctlttJttlttu Au. yt 

    hm;ttltwk Htu*tVG Nttu"ttu.

(2) 125 btexh jtkcttE yltu 65 btexh vtntuGtE "thtJt;tt yuf jtkctattuhmt cttdtlte Vh;tu atthu ;thV ctnthlte cttswyu 3 btexh vtntuGtu hm;ttu

    Au. yt hm;ttltwk Htu*tVG Nttu"ttu.

(3) 8 mtubte jttkctt yltu 5 mtubte vtntuGt vtqkXt vth yuf rat*t 'tuhujtwk Au. vtqXtk vth rat*tlte Vh;tu yk'hlte cttswyu atthu ;thV 1.5 mtubte ntkrmtgttu

    Atuzujttu Au. yt ntkrmtgttltwk Htu*tVG Nttu"ttu.

(4) 30 btexh jtkcttElte cttswJttGt attuhmt cttdtlte yk'hlte cttswyu atthu ;thV 1 btexh vtntuGtu hm;ttu ctlttJtujt Au. ;ttu yt hm;ttltwk Htu*tVG
2    Nttu"ttu. hm;tt rmtJttgtltt Cttdtbttk ~t. 40 bte  vt{bttKtu Dttmt WdttzJttlttu Ftato Nttu"ttu.

(5) 20 btexh jtkcttEJttGt attuhmt cttdtltt yk'hltt Cttdtbttk 2 btexh vtntuGtu hm;ttu ctlttJtujt Au. yt hm;ttbttk jttult jtdttzJttlttu Ftato vt{r;t

    attu.bte ~t. 10 jtuFtu fuxjttu :ttgt?
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